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Jor the questions

Answer either in English or in Assameseé

( APPLIED STATISTICS )

1, 3
Answer the following as directed : 1x7=7
S
ST fisteara fice wpifa T fidl :
o1 general, Laspeyres’ price index

Number s than Paasche’s pricé

index number.
( Fill in the blank )

MRS, g W pARE MR
WW l

(-ﬁmoﬁqw)
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(2)

iati ime series
(b) The seasonal variations of a ime
occur

TR Agsie AR Gl ¢l T
(i) within a month
UIRIESHECAS
(ii) w1thm a week
<51 e fooTe
(iij) within a year
o1 9= foeTe
(iv) within a day
I RECERESET

( Choose the correct answer )

() What is hypothetical population?
orfere STafe {9 2

(d) In a particular period, cost of living U
index number is found to be 150 and
money wage of a worker is ¥ 9,000.
What will be the worker’s real wage at (g)

that period?

@I @1 TR e S frz T P
150 o® @& Hfieq @ TgR € 9,000.
AT G} TR 2 T RFm 2792

ued) g
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(3)

(e) If the origin in a trend line equation is

shifted forward by three years, X in the
equation Y =a+bX will be replaced by

M @A R B e T 47 3 I=7
SR M /W, Y =a+bx FAPITS X Ay
?J
M) 1y
3
1
EX?W
(i) X+3
X+33 %[/
(i) X-3
X-33 [
(iv) None of the above
NIGERUONEE _
( Choose the correct answer )
( o et AR Sy )

What does L, column of the life table
represent?

%WL,C@ZB@%W?

Non-sampling errors are present both in

ceénsus surveys as well as s

ample
Surveys,

( Write True or False )

H“Tfﬁ‘fm?%mﬁﬁﬁ'rw?&%ﬁ
@Wﬁmwm?ﬁwﬁwml

(W% @ oy foe )

( Turn Over )




o, S

(4)

2. Give . short answers of the following s
: o
questions : _ . 2

wero il eppTRd B T A

(@) Mention the components of a time
series.
IECET BARPRR N SARPH T SeE
11

(b) What is meant by deseasonalization of
data of a time series?

IECA AgEFe deEafe v I &
T ?

¢ What is the significance of Net
Reproduction Rate (NRR) =17
W% e 24 (NRR)=17 ©1eoff % 2

(d) Index numbers  are
barometers. Explain.

IR (202 FAST B T | 3070 <51 |

economic

3. Answer any three from the

following
questions : 5x3=15
wTs fra R e fofint omm Teg oy -

fa) What is cost of living index number?
Mention its uses.

2+3‘5
S fife W spere oo e R
TCEY 90|
8A/847 ( Continued

(b) Write the advantages of sample survey

(c)

(§)

Over complete enumeration.

%ﬁfﬂmﬁwﬁwﬁwqﬁw

From the chain base index (CBI)

numbers given below, find fixed base
index (FBI) numbers :

oS fl e SR (CBI) o

f&afefe s (FBI) fody 41 -
Year 1975 1976 1977 1978 1979
m‘ :
CBI 2 80 110 120 90 140

(d) Calculate trend values using 4 yearly-

moving average for the time series given
below :

ST ] IECAGR o] 4 I oG T
TR IR SofoorEa T ey 4

Year

oty
Reoy 0N (kk

/34,

: 2008 2009 2010 2011 2012 2013 2014 2015 2016

506 620 1036 673 588 696 1116 738 663

( Turn Over )




on | (7)
) +1+1=5 .
(e) - Define : . (¢) (i) What precautions should be taken
| ot to select the base period to construct
(i) Population an index number? 4
PIRE 2RFS e SR o i
(i) Parameter % & sTeamer Sgermm 3Rq =gar 2
||
(alfetaustis (i) Given the following data :
ﬁ[wﬁ'lﬁ
Commodity po 9, p, a
4. Answer any three from the following A 1 10 2 5
questions : 10x3=30 B 1 5 %
were o 1 o o e e i - where Py 4, refer to base period price
; (a) Explain the methods for measurement of and quantity ; P, 4q refer to current
,' fertility. 10 period price and quantity. Find X if the
L Pasachivs P> index’ e 8
(b) Write short notes on any two from the ' L:P=28":27. 6
following : 5x2=10 -
5o O AqT :
wore il @ CreT Wor 5 e fore
(i Life table Tl 5 - :
hARA A X 10 2 z
(i) Wholesale price index number B 1 5 X
ARSI 7T 5 SHe3 Vi .
© ffefy e
(i) Gross reproduction rate Py qo3 5 JAE TP 9,
¥ o 7 T T A Wi RET @R X 9 IH
B w1 o ameopr (@) e R (P)
PFRR Weire L: P =28 : 27 W |
8A/847 ( Continued )
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(8) (9)

(d () Fita trend line to the following data (i) Define vital events and vital
by the method of least squares : 6 statistics. Compute age-specific
e fl ©UR oW1 SN 3ol e death rates for the age groups given
: ' below : 1+1+3=5
@RS Tomfe | 5 :
A .
Year . 1970 1971 1972 1973 1974 ISy b Y Ipafiepiliton
(7=9) | A 25 1000
Production wol1g sigpevigs 27 26 10320 15 2000
(in ’000 tons) 20-30 5 3000
TeAAT7 (’000 519) : 30-40 7 2500
(ii) Calculate the trend values. 2 40-50 18 500
ooty T fAef 4 twa o o O AR SHeE e |
(iii) Estimate the production in 1975. 2 T fra TP MR (A1 9oR) R -
1975 58 Seoqmad oAfme fefa 41 2 o 79 s w4 :
(¢) What is simple random sampling? T TR Tor9 R
Mention two methods of selecting 0-10 25
random samples. Discuss the merits and 10-20 15
demerits of stratified random sampling. 20-30
1+2+7=10
3040
e Aivee aifevaa 2 ampfes aifomd f<ios 40-50 18
T B! s A TEY I | TS T
25T R S SERaeTRR SicE 4 |
(i () Show that Fisher’s index number
satisfies both time reversal test and
factor reversal test.
(JSa @ RO SpIRRE Y TeE
R W T Segna A P
FE |
SRR ( Continued

847847




11 )
(10 ) ‘
(e) Why there is type II error problem in
( ECONOMETRIC METHODS ) multicollinearity?
1. Answer the following as directed : 1x7=7 =R TS =W T oot R 4z 2
. Clac eq
were AR ST () What is the role of the dummy variables
(a@) What is a dummy varible? in a model of the form Y =a+BD, +U,?
Y=o+ HIf3e ISR 5AFE]
AT 5% 1 7 f%t? o +BD; +U, S 29 giﬁﬁﬂ
: _ (g) In a time series, heteroscedasticity does
(b) The equation of the exponential curve is not oceur.
of the form Y = : Write T
(Eilllinkthe Glank ) ( Write rue or False )
FrTTe ey Rofrer |
o @R NFAR AMD Y = | R e T
(2N 5 o 7 ) (&% 7 wrem foran )
| 2. Answer the following questions - 2x4=8
(c) What is time series? TS e ey e fore -
T &2 (@ What is Seasonalisation of dummy
variable?
(d) 1 R? value is very high and most of the A 51T Agea o o TR 2
independent variables are insignificant, . !
then what will be the problem? ®) Draw. a figure showing Positive ang
negative first-order autocorrelationg,
ﬁRzam%&meWW
CETICRTEN =, COrTRA 6 S 5f® 279 9 :zfsawwﬁﬁw REIERC RN T o S
©
“TR I A e i oy 3 |
A /847 ( Continued ) 81’:‘1/ 847
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(E123) (13 )

{c) What is a dummy variable trap? How

(c) Mention two limitations of the method of
can we overcome it?

moving averages.

AIP! Do T q1A 19 2 20 =¥ foweq
o8 S1S AANeS Kol AAael Sead <41 | e ARGl
(d) Describe briefly the Koyck model.
(d) Name two problems that arise in the Koyck SR : i
estimation of a linear regression model, @il ;
7 2 _52 (e) culate three-year moving averages
AR S Hon=Nat 4 lL,) " = for the following data and comment on
and E (u; u;) =0 are violated. the results :
51 SRR AN (R 7 SRetaRe s S wore R AR A fof-T=fE voe 1S S
iz ﬂﬁ =, e E(ui)z = 52 < F4 HF FAF SO J9[H9 o .
E (u; u ;) = 0 SfS4RA 751 M 511 =7 | Year (3%9) . 2006 2007 2008 2009 2010
Production ARTO TN DO 25 e
3. Answer any three of the following : 5x3=15 (in *000 tonnes)
i i e Fofibt e Ta forey Tesf (000 579)
Year (9%9) . 9011 2012 2013 2014 2015
(a) Explain briefly various reasons for the Bt e oD g5 26 AETENE
problem of multicollinearity. (in 000 foties)
S (1000 S
Tl TEE R R FRe e T ( ) ' f
ik 4. Answer any three of the following : 10x3=30
oorq R e Tofer enm Ted 41 :
(b) Distinguish between AOV and ACOV (a) Explain the methods of dt_atecting_ the
GG multicollinearity problem 1n & linear
& regression model. What are th:
incpe. TS PerEe Rommer w2 remedies for multicollinearity problem:
Eq 1<) Y& | GGl SqEaRe TR e a‘isﬁ R PEE]
ST BfCel TR T RO AT
0| IR TRTIAS O R “Tafer
847 . fer=
8/ - (contimued) gp e (Tum 0%/




( 14 ) (15 )
(b) From the following information, test the () Explain the method of least squares in
autocorrelation :

measuring trend of a time series. How
A Tt Sl < - can exponential trend be determined?

IECAN M GRIE gy I orafen
e - sl Dalte SpBadd 154ie6,2 (17 oAl | RO S FeTed e
Y| i 2 medi B Basil0 12 .14 <9 #1132

The tested model for the above
observationisY; =1-2+0-6X;.

@ EEE AR RrEEE  SEol 24
Y, =1-2+0-6X,.

* & Kk

() Why is the study of time series useful?

Discuss the various components of 2
time series.

T S R ey 7 Feede RS
AL ST 4 |
(d) Briefly discuss the importance of the
adaptive expectations model. What are

the problems faced in estimating the
model?

R o WRGR vy vie S
gﬂtﬁmﬁmﬁwﬁammﬂw
?

(¢) Explain the partial adjustment model.

P SIS ST A < |

7 gl
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